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From the last lecture...

1. A E Ctlte A2 eI Bt EsHUeE
=& 0 et &= etlh= 0| LY.

2. =40 tiet na&s e A2 28
“A&ot= 4 24 (the units of a
sentence)E =48 == AULt= A O|LH.

3. & 4 24 = H A (houn), = At (verb),
= Z Al (adjective), £ Al (adverb)...



=t (4 (word):

2X 8 QA0 XA 9

Content words (LH & ) vs. Function words
(Jls )

1) Content words: Z At, S A, S EAF, FAL...(bird,
run, beautiful, lastly...)

- JRet =0 US.

- AEez AIEE = US.

2) Function words: 2t At, &/==/Al Al X, & XAl
S = A S At (a, -s, -ed, in, and, can...)
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Morphology and

Linguistic Competence
HE=2 UM HHS2 _._F HH2 =8=
Jl=ote &S0 2ol CHE A 2F HA20] &,

e.g dog vs. dogs (plural —s); then attach
—s to make any plural (count) nouns

2 oA =+8sS LIEHUH=E —s= 032
SEi== LEHU B2z otAS0AH A=,
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Technical terms

Words, morphemes

Lexicon

Word coinage

Inflectional / Derivational morphology



Lexicon
. OIZ2Ho| =4[Ol =282 EF=2=2 MEEN
A Z. (mental dictionary = lexicon)
Knowmg a word means knowing that

- a particular sequence of sounds is associated
with a particular meaning.

- the lexicon specifies syntactic class of the word.
- the lexicon contains all the words that you know.



Word (&t H):
the smallest unit of sentence / utterances

Content words vs. Function words (LIE X vs. J|s )

1) Content words: N, A, V, Adv (bird, run, beautiful,
lastly...)

- They stand alone.
- Open class (creating new words to each class)

2) Function words: articles, pronouns, prepositions,
conjunctions..

- They cannot stand alone.
- They specifies grammatical relations.
- Closed class (no creativity)




S Ef A~ (morphemes)

SEf A 2012 = A B
SHi=: SEiA0 2ol S0 AdE=E #E=S

bird: bird + s
desire: desire + able desire + able + ity
gentlemanliness: gentle + man + li + ness

Monomorphemic words (&t EH &~ &H4): words
containing single morphemes



Free morpheme (AH& & EH &)
Bound morpheme (2| & Bl 2)
1) At S Ef A (free morpheme)
- NI XOZ LHEY 2 AUS

= T AN,

2) 2| = A Ef A (bound morpheme)
- NEO2 LIEtY = S

= T BAO.-

- X2 EEAN 20 M SHOS BrSolY.




bird (KHE) + s (81 &)

desire (AIE) + able (2] &) + ity (21 &)
gentle (AH&!) + man (AHE) + i (21 &) +
ness (2 &)

anti (2/ =) + dis (21 &) + establish (AIE) +
ment (2] &) + ari (2] &) + an (2| &) + ism

Ol &)



More on bound morphemes (affixes)

ol =

HO
[

1. prefix (85 AH): Ate SEHA
olE St

2. suffix (BOIAN: XHE HERA SO 2
OlE&E A

>

[Ir

pre (prefix) + determine (free morpheme)
un (prefix) + think (free morpheme) + able

(suffix)
sing (free morpheme) + er (suffix)



Root ({2) vs. Stem (X 2H)

1) {2 (roo R O|ZSEfAII ES £ U= 21 . O 014 U=
#&i A CHS
2) K2k (stem): H20] 2/ &=SEHa2r Z& st A,

paint (H2) + er (A =HEfA:E 0| Al = painter (SHH/0121)
painter (H2t) + s (S ES EH A Z 0| Ab) = painters (&)

desire (H2) + able (& 0| Al) = desirable (&t H/H 2H)
desirable (H2}) + ity (& 0| Al) = desirability (&H01/0{ 2t)
desirability (H2t) + es (& 0| At) = desirabilities (&t 1)



Inflectional morphology (= & S Ef &) vs.
Derivational morphology (1t 24 & Ef &)
1) =& S EH 2 (inflectional morphology)
- HOo =8A SEHB HiE

- SAHe BlS

-ed (past tense) walt —» waited
-Ing (progressive) wait — waiting
-S (plural) card — cards
-er (comparative) tall — taller



2) LA ENE (derivational morphology)
CC

- SAFE= 2012 Bt

re- (LkAIGFCH) cycle — recycle

de- (o Ml GtCt, HE R CH) code — decode

-y (H Z A} fish (B AF) — fishy (2 EAH

-ize (= Al) vandal (2 Al) — vandalize (S Al)



Inflections vs. Derivations

1) Inflectional affixes (= & & Al):
- =838 J|s= Lietd (A= X, AlHl S)

- HO2 D2 2/0l= B Al 23S,

2) Derivational affixes (1t 24 & A}):
- SO 122 01U SAE HtE.
- HAFXHMOEOEE 2012 XUD UAS.




HAH — & & Al (boy-ish, life-like, alcohol-ic,
health-ful)

S At —> H Al (clear-ance, accus-ation, free-
dom, predict-ion)

S Z A — 2 A} (exact-ly, quiet-ly)

A Al - = At (vaccin-ate, moral-ize)

S Al > & E Al (read-able, creat-ive)

2. =2 20| B3t

friend-ship, un-do, re-cover, in-flammable,
sub-minimal, semi-annual
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U0

-0[01 EAHFE=2 HUHOl TOE BAHE

A Ol =
T MO

e Sensational
sens(e) — ation — sensation — al
* Verbalized
Verb + al — verbal
Verbal + ize — verbalize
Verbalize + -d — verbalized
- =28 M g4 HE L0 EXH .
verbal-ize-s, gentle-men-li-ness-es




= A
Nouns
e dog, cat, bike, person, planet, ball, etc.
Verbs

e run, kick, scratch, scream, bite, walk, be, have,
etc.

Adjectives
* happy, sad, angry, funny, clear, fuzzy, ugly, etc.
Prepositions

e to, for, of, with, out, in, above, below, etc.
Adverbs

o often, seldom, rarely, purely, frequently, etc.
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Verbalized

Verb + al —» verbal

Verbal + 1ze — verbalize
Verbalize + -d — verbalized

*Verb + 1ze — verbize
*Verb + d + al + 1ze — verbedalize



What we known about the
Internal structure of words

* 1€ + present + ation + al

representational|

|represéntatiﬂn] C ol |
represent] [ ation | -

. re- attaches to a Verb to form a
re | [present] new Verb




HH &4 12X (continued)
MEA=E HHIRIIFASEH E= =

O K 0 E

boy-ish, boy-ish-ness, boy-s, *boy-s-ish
create, creat-lve, creat-ed, *creat-ed-ive



boy-ish (2} & Al)
Adjective (21 E AH)

TN

Noun (&2 AF)  ish
boy

creat-ive (2 S Al)
Adjective (21 E Ab)

Verb (SAH)  ive
create



Exercises |

1.
2.

O E gz L=

2T SEH A AE SHAx S22 2 &

=R ENSCIDNIN=

51D
2 SEj AT EAIS %5|D
= 0|

X

olE SdEiActH =& & AKX Tt
SARIAl 5= A

=E HOH2 SAE 2 A



teacher
walked
prettier
teachers
formal
organization
iImpossibllity
preoccupied
unhappiness



teacher (2 Al :
teach(AtE, S Al) er(8l &, 1} A4)

walked (S Al)
walk (AtEl, S A ed(2 &, = &)

prettier (2 EAt)
pretty (2 EA) er(2l &, = &)

teachers (&2 Al
teach(AtE, S At er(2l &, L) s(2l &, = &)

formal (&2 & Al
form (AtE, B AL al(2l &, 1HA)

organization (& A})
organ (AtE, HA), ize (2 &, LH4), tion(2 &, Lta)

impossibility (&2 Al

im (2l =, It4), possible (A, S E AL, ity (8l =, 1t 2H)

unhappiness (& Al
un (21 &, Ut4), happy (AHE, & E At), ness (2l &, Lt

AH

O

)



Unsystematically

un + system + atic + al + ly

*un + system : no word In English dictionary
system + atic — systematic (Yes!)

un + systematic — unsystematic (2! = At)
unsystematic + al - unsystematical (2 E Af)
unsystematically — unsystematically (5 At)






Exercise Il
LA 0| =THAN EHHE LHEHLAES
12| Al 2.

e teachers
e unhappiness
e formalize
e Qrganization

More...

e unbelievable / verbalization /
gentlemanliness



QGB?; --—mu



Productivity

* The extent to which a word-formation rule can be
applied to new morphemes to form new words

(HFHE M2 e = U= SE
 Some rules are more productive than others:
* -NEess vs. -ity
poth attach to: adjectives
poth form: nouns
noth mean: the quality of the adjective
olindness  stupidity
nappiness validity
goodness complexity




* -ness Is very productive, so it can expand its
morphological reach to new words:

truthy + -ness = truthiness
chair + -ness = chairness

 However, -ity Is less productive than —ness,
and it cannot attach to new adjectives:

truthy + -ity = *truthity
chair + ity = *chairity



Cranberry morphemes

Examples: cranberry, huckleberry, raspberry

Q1: What do cran-, huckle-, and rasp- mean?

e Cranberry morphemes: S& St 0l A BF LEEFLE
= S EH A (cranberry, huckleberry, raspberry)
Q2: -ceive In perceive, receive, deceive
-fer in infer, refer, defer
-mit iIn commit, permit, submit

e Latinate stems: NS SEHASE OFL| D CIE&=SHEH A
& OtY. 2L} root, steml 2 Al E




How to create new words?

I} &H (Derivation: recall derivational
morphology)

- Forming new words from existing ones
by adding affixes to them.

- Recall that derivation changes word
categories or major meanings

—= Ccreating new words



MEZF 0 BH=D)|
« A0 (word coinage)

1. eponym(Al L) HEe AFEO] B = H
DRYAD ESYAIZ AFE

robot (K. Capek 2~& R.U.R.(=Rossumovi
univerzalni roboti )0fl LI2= J| A2

0| )

sandwich (named after John Montagu, 4%
Earl of Sandwich)



2. back-formation (& & &
- 235 HO=E 20 A EAHA
%017"
teach + er = teacher

- 1L e H0He ALK E £20l=
SEIAl 3 Z& & HA HOH It
0= O &
editor, peddler (8 &f Q1)

- A2 HHUIM -or E= —er=2 EALHE
SO0 XI Bt & AFJF OtL| 2} ‘editor, peddler'=
Ao otLte] SElA S
editor (H & XH)> edit(H & ot Ct),
peddler (2 & 91)> peddle(2 & 6t Ct)




3. Compound (&4 )

- S AEEH HHE /M 22
HHE BF= B

Ditter + sweet = bittersweet

nome + work = homework

nick + pocket = pickpocket

straw + berry = strawberry

- 2L H0O 0| RXE &5, Ot £ &

O] =2
M O -




4. Blends (&< 01)
- S COIE 242 RN R S02 BHE D S
=02 e ’i,"é =0 AN 2= &0

smoke + fog = smog
motorist + hotel = motel
breakfast + lunch = brunch

Information + commercial = informercial
(I—I = aI:O| DI—O /\I-O-IP,I-E)



5. Clipping (= 2 (1)

- 2 HAH2 EFE =0HA B2 HH=E Bt
TV = television, phone = telephone

Gas = gasoline

6. Acronym (2 AH)

- Hey &2l H = A8 ThAl Bt
RAM = random access memory
Radar = radio detecting and ranging



What we have learned today...

SEHA (K& vs. Ol = SEjA)
O| =B EHA (MM vs. 2F T A
0| 5
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